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Chapter 5: Test Review Date: L/ Period:

. Lety=(1.091)". Use a graphto estimatexify=2. &

2. Aninvestment of $1,235 increased to 57,652 in 13 years. If the interest was compounded continuously,

find the interest rate. A = Pe rE
Tos2 = ]235€

I 0’] )00
50“
3. Find the zeros of f(x) = x (Se )+4x2e5" x’e 5){5)( .'.4) =0
Sx44=0
O Sx=-4
(e¥ 4 e™¥)(e¥+e™])— (¥ —e ") (¥ —e™)

(e + e™W)?
2W .ZY\/ "2”/)
(zw“_}mz) (6 — )=+

(eYre ’Wf (e

r(13) &

N
(.10, 70627

>y

4. Simplify the expression.

5. Estimatey if x = 40.

_ L0340
y = €207 \} - .e

= 16. 44
5. Change to exponential.fo;rr-ﬁ
3- ]
| £ — =-3 - -
085 125~ é /25'



7. Change to exponential form.

Inx=0.9.

8. Find the number.

~ @

9. Solve the equation.

Iogz).( = log,(10-x)
Q/ ¢ )‘;5
X =10-X
2%=0

10. Express in terms of logarithms of positive real numbers x,y, z, w.

e gy Wy, vy 2
log %+ lug w514, ~3log , 2

B i i s i

2

11. Find the exact solution using commgn logarithms and a two-decimal -place approximation of the solution

of the equation. )% q O‘ "’5) /5 7 ( ,"'4%)
(M) lig 9 = (1-4%)log 7

‘i+5l = Iy 7 = Ay Jy 7

‘}Hlx 7- Jog 7 -5 lgq .@

? 49‘%/0 7 ,ﬁ/cz;‘i —
Joy 4y log +) qum/oj;&)

12. Find the soI tionts) of theequation.

3*+ 818 =30. 30 f 3
' 0
\l, Vs = . g




13. Use the change of base formula to approximate the y-intercept.

(x) = logy(x+11) /y; ( 0+1) )
- /(a/; //

/% /!
fy 2 0@ D

14. Solve the equation.
1)x+2 _ 216(6x)—2

2(27’ ) %42) _ &3é “ak
LY

A{,{,+ K g = IFTH
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